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program reportl
implicit none
integer : n, 1, j}
real(8) :: x, total, pi, rad, f, ¢
intrinsic dble, atan

pi = 4.0D0 * atan(1.0D0O)

write(™, *) "Enter x (times pi): *©
read(™, *) X

rad = pi * X RIELFAITSpi*x ZFHHELTHEL

write(™*, *) "Enter n: *
read(**, *) n

IT (n <= 0) then
write(*, *) "Error: n<=0"
stop

endif
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total = 0.0DO
f = 1.0D0
do1 =1, n

g = 1.0D0

I calculate (2i1-1)!

dojg=1,2*1 -1

g =g * dole()

end do

total = total + ¥ * rad**(2*1-1) / g

f=-1.0D0 * f ' flip flag
end do (-1.0D0)**(i+1) =& i+1ElDHNFEANE
write(*, "(a, 7.3, a, f15.10)") &

"sin (", X,"*pi1) i1s about ", total
stop
end program
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do 1=1,n
a = 1.0D0
do jJ=1,2*i1-1
a=a* (x*pi/j)

end do
total = total + (-1)**(i+l) * a
end do
do 1=1,n
a = 1.0D0

do j=1,2*i-1
a=a* (Xpi/zdble(j))
end do
total = total + (-1.0DO)**(i+l) * a
end do
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program reportl

implicit none
integer::i,j
real(8)::a,b,total,x,n,pi
Intrinsic atan

pi=4.0D0*atan(1.0D0)
write(*,*) "Enter n: *
read(*,*) n

write(™,*) “Enter x(*pi1):-
read(*,*) X

iIT (n<=0.0D0) then
write(™,*) “Error:n must be >0°
end 1f

total=0.0D0O

do j=1,n

a=1.0D0

program reportl
implicit none
integer::i,j
real(8)::a,b,total,x,n,pil
Intrinsic atan

pi=4.0D0O*atan(1.0D0)
write(™, *) "Enter n: *
read(*,*) n

write(™, *) "Enter x(Cpi):"
read(*,*) x

IT (n<=0.0D0) then

end 1f
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total=0.0D0
do j=1,n
a=1.0D0

write(™,*) "Error:n must be >0
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write(*, *) "sin (", X,"*pi1) 1s about ", total

HhIER

sin ( 1.000000000000000 *pi1) i1s about 3.458669144327514E-16
3.458669144327514E-16 =3.458669144327514 x 10-16

o EHDORTHAZT FIZT S
=l A y¢ ZIT 15HT, MBI 104
write(*, "(a, 7.3, a, f15.10)") &
"sin (", X,"*p1) i1s about ", total

H D#ER

sin ( 1.000*pi1) is about 0.000Q000000
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program reportl
implicit none
integer : n, 1, j}

real(8) :: x, total, pi, rad, f, ¢

Intrinsic sin, atan
pi = 4.0D0 * atan(1.0D0)

write(™, *) "Enter x (times pi):
read(™, *) X
rad = x * pi

write(™, *) "Enter n: *
read(**, *) n

IT (n <= 0) then
write(*, *) "Error: n<=0"
stop

endif
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total = 0.0DO
f = 1.0D0
do1 =1, n

g = 1.0D0

do jJ =1, 2 *1 -1

g =9 * rad /7 dble(j)

end do

total = total + T * g

f=-1.0D0 * F I flip flag
end do

write(™, "(a, 7.3, a, f15.10)") &
"sin (", X,"*p1) 1s about ", total
stop
end program
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total, = x

Y1 =X
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total. =total._, +.
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program reportl
implicit none
integer -: n, 1, h
real(8) :: x, total, pi, rad, y
Intrinsic sin, atan

pi = 4.0D0 * atan(1.0D0)

write(™, *) "Enter x (times pi):
read(™, *) X
rad = x * pi

write(™*, *) "Enter n: *
read(**, *) n

IT (n <= 0) then
write(*, *) "Error: n<=0"
stop

endif
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total = rad
y = rad
do1 =2, n

! calculate Y i = -1 * Y _(i-1) * x * x /7 (Qi-1)*(2i-2))

h=Q@*1-2)*@*1 -1)
y = -1.0D0 * vy * rad * rad / dble(h)
I calculate TOTAL 1 = TOTAL (1-1) + Y_1i
total = total + vy
end do

write(™, "(a, 7.3, a, f15.5)") &
"sin (", X,"*pi1) 1s about ", total
stop
end program




s ﬁb\ IZ:I: 75\

real(8) :t: n

write(*,*) "#H¥BDOnlE? "
read(*,*) n

c = ceiling(n)

iIT (n <=0 .or. n /=c) then

write(*,*) "nlZBAEICL TR D"
stop

end 1f
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write(*,*) ''n=?"

read(*,*) n

do while (n <= 0.0D0O)
write(**,*)"Error! n must be > 0. Please try again!”
write(*,*) ''n=?"
read(*,*) n

end do

R : dowhile(&#) ~ enddo
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y =X

do while (y >=
y =y -1.0D0

end do

do while (y <=
y =y +1.0D0
end do
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y = X — iInt(x)
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degtorad = pi1 / 180.0DO

write(™, *) "ANExDEHR"

write(™, *) "1:x radian/2: tx radian/other:degree ? *©
read(*, *) type

select case(type)

case("1")

xrad = X

Xpt = x / pi

xdeg = x / degtorad
case("2%)

xrad = x * pi

Xp1 = X

xdeg = x * 180.0DO
case default
xrad = x * degtorad
Xpt = x / 180.0D0
xdeg = X
end select
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total = 0.0DO

f = 1.0D0

dor1=1,n, 1
total = total + T * rad**(2*1-1)/gamma(2.0D0*dble(1))
f=-1.0D0 * F

end do

o HTEHEL:
r(x) = jooo e 't dt

o T TEHMNDILE
['(x+1) = xI'(x)
&Y

['(n+1) =n!




